Addition and Subtraction 4-Digit Worded Calculations

LQ: T can use the carreet raleulation to salve prablems.

1, What nizmber i three thousand and six mere thaon four theusend, six hundred and ninstigfive?
2, Subtract 6725 from 8003,
3, How much smaller is 4237 than 51387
4, \Whas number is four thousand, three hundred and forty mare than five thousand and seventy-six?
5. Caloulaze the difference between three thousond, two hundred ond twelve, and two thousand and forty-sle,
6. Add £23.71 10 £78.46.
7. Whet number is 5002 less than 70017
8. Increass £7583 by £22.71.
9, Whet number is the sum of cix theusand and slxty and two thousand, four hundred and thirteen?
10, Decrease 2973 by £23.
11. What is added 10 £45,62 to make £87.007
12. Whar number is four thousand, six hundrad and tweive minus nine hundred and sixty?
13, Tahe £6712 from £8000,
14, If Lincrease a number by 2097 and get 46517, what nurnber did I start with?

15. Add togesher 5892 and 3015, then subtroct 6719,
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. What nizmber is three thousand and six mere than [our theusand, six hundred and ninsugfive? =7 T

Subtract 6725 from 8053, | 5729
How much smaller is 4237 than 51382 G0 |
\Whas number is four thausand, three hundred and forty mare than five thoutand and seventy-six? ‘1 e
Calculaze the difference betwsen three thausand, two hundred ond twelve, and two thousand and fortyslx, | 166
Add£2371t0£7846. 10217
Vhes number i 5002 lessthan 70017 149 9
Increase £75.83 by £22.71. {‘ﬁ i 5 L{‘
et susnbes is the sum of tix theusand and sixty and twa thousand, four hundred and thirteen? QU 7 3
Drcrense 2973 by £28. 234 S
What is added 10 £45.62 tomake £87.000. £ (. 39
What number is four theusand, six hundrad and twetve minus nine hundred ond sixty? 30 52

Take £6712 from £8000, £| 2R B

If Lincrease o number by 2097 and get 4651, what number did | start with? 255

15. £dd together 5892 and 3015, then subtrect 6719, 7] 8 Q

Scanned with CamScanner



